

The Lynden Lane Co.

**10/15/2025** 03:00 PM | Drive to Palm Springs

10/16/2025 08:00 AM | Install Welcome & reception walls

10/17/2025 08:00 AM | Install reception

**10/17/2025** 09:00 AM | Install Pool Party

**10/17/2025** 04:00 PM | Strike Pool Party **10/18/2025** 08:00 AM | Strike welcome party

10/19/2025 08:00 AM | Strike Reception

10/19/2025 02:00 PM | Strike After party

P0:

**Shipping Address:** 

The Parker Palm Springs 4200 E Palm Canyon Dr #5230, Palm Springs, CA 92264 **Invoice Date:** 

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total
Additions					
	Dance Platform - Round 04 painted in Benjamin Moore Pine Barrens 437 high gloss, 36"Diam x 18"H - Custom Color Upon Request	1	\$500.00	Т	\$500.00
			Total Additions		\$500.00
Welcome Party					
	Bars - Arched Booth Bar "The Chain Stitch CLub" finish top to have all 4 headers at 18"H, Interior & Exterior Wall Paint:Â Benjamin Moore Simply White in eggshell, accent color backdrop porsche green in semi gloss, 24 pegs, shelves included 10' x 10' x 10'H	1	\$5,800.00	Т	\$5,800.00
	Bars - Booth Bar W/ Simple Molding "Jane & Riley's Cheese Shop" finish top to have all 4 headers at 18"H, Interior & Exterior Wall	1	\$5,800.00	Т	\$5,800.00
	Paint:Â Benjamin Moore Simply White in eggshell, accent color backdrop porsche green in semi gloss, 4 sided header 18" 10' x 10' x 10'				
	Bars - Simple Booth Bar - "Milk & Cookies" finish top to have all 4 headers at 18"H, Interior & Exterior Wall Paint:Â Benjamin Moore Simply White in eggshell, accent color backdrop porsche green in semi gloss, 4 sided header 18" 10'W x 5'D x 10'H	1	\$5,800.00	Т	\$5,800.0
	Custom Booth 10' x 10' - "The Shrimp Society"	1	\$12,000.00	Т	\$12,000.00
	finish top to have all 4 headers at 18"H, Interior & Exterior Wall Paint:Â Benjamin Moore Simply White in eggshell, accent color backdrop porsche green in semi gloss, 4 sided header 18"				
	Pendants - Frosted Ribbed Glass	12	\$300.00	Т	\$3,600.00
	12"Diam x 8" 3/4 H   60 watts   Weight 5lb				
	Custom Bar 24'W x 42"H	1	\$12,800.00	Т	\$12,800.00
	2-8' and 2-4' curved pieces placed together to create a 24' W bar, bar front - Painted in Backdrop Brand Porsche Irish Green semi gloss, painted marble top with rigged lip				
	Custom Barbak Wall - 24'W x 10'H	1	\$9,500.00	Т	\$9,500.00
	laminate finish, 8-3'W x 10'H sections, top & bottom shelves come separately, Shelves are up to 40" from the ground, top has a niche opening, with gold rod, add puck lights,				

Description		Qtty	Price		Total
	Custom Bar 24'W x 34"-42"H	1	\$10,500.00	Т	\$10,500.00
	1- 10' W x 42"H, 2-7'W x 34"H pieces placed together to create a 24'W bar, molding front, 2- 6'W x 10"H frosted plexi stand with gold legs, painted benjamin moore simply white oc-117 semi gloss,	·	<b>V</b> 10,000	·	<b>V</b> 10,000100
	Custom Barback Wall - 24'W x 12'H	1	\$11,600.00	Т	\$11,600.00
	5'W x 10'H plexi mirror in the center, panel painted in backdrop porsche, accent molding in benjamin moore simply white, hand painted marble top,				
	Sofas - Santa Barbara - Linen	8	\$600.00	Т	\$4,800.00
	monaco ivory covers 8'W x 43.5"D x 28.5"   Seat Height 20"   Seat Depth 28"   Custom Cover Upon Request				
	Club & Lounge Chairs - Santa Barbara - 01 monaco ivory covers	8	\$300.00	Т	\$2,400.00
	51"W x 40.5"D x 28"H   Seat Height 19"   Seat Depth 25"				
			Total Welcome Party		\$84,600.00
Cocktail Hour					
	Custom / In Stock Bar 20' x 20' x 39"H 6-8' sections, 1-12' sections, 4 corners, the side of the 12' section will have a 4' opening for bartenders, painted benjamin moore Palisades park 439 egg shell	1	\$11,000.00	T	\$11,000.00
	Custom Barback For Cocktail Hour Bar approx 5' x 5' x 42"H, -Painted in Benjamin Moore Mint chocolate chip 436 semi gloss	1	\$2,500.00	Т	\$2,500.00
			Total Cocktail Ho	our	\$13,500.00
Reception					
	Custom Wall 72'8" x 12'3"H	2	\$21,500.00	Т	\$43,000.00
	painted in Benjamin Moore Pine Barrens 437 high gloss, TOTAL PANELS FOR BOTH WALLS = 10-8'W x 12'3"H, 12-4'W x 12'3"H, 2 sections of door openings, 4-2'W x 13'H, returns, 6-2'W x 8'H returns,				
	Custom Picture Frames - 4' x 4'	10	\$500.00	Т	\$5,000.00
	40" x 40" photo provided by client				
	Custom Stage Backdrop - 24'W x 12'9"H	1	\$7,300.00	Т	\$7,300.00
	Painted in Benjamin Moore Palisades Park 439 in eggshell, rounded trim to form arch, client to provide sconces, L brackets sandbags placed on ground, 2-18â W 12'9", panels to hide L-brackets/sandbag				
	Custom Stage Front - 24'W x 14'D x 18"H	1	\$3,000.00	Т	\$3,000.00
	painted in Benjamin Moore Mint Chocolate Chip 436 in eggshell, 3-8'W x 18", 4-7'W x 18"H, thin reed painted,				
	Custom DJ Booth - 7'W x 43"H,	1	\$3,800.00	T	\$3,800.00
	Benjamin Moore Mint Chocolate Chip 436 semi gloss, shelf for equipment at 38"H, reed top half front, bottom is flat, ON WHEELS				. ,
	Custom Bar 16' x 40"	2	\$6,900.00	Т	\$13,800.00
	1-12'W section, 2- 2'W sections, hand painted marble top, golden oak stain with 2 washes, base in marble as well				
	Custom Barback Wall 16' x 12'9"H	2	\$5,800.00	Т	\$11,600.00
	Trim in Benjamin Moore Palisades Park 43 high gloss, wallpaper front,, hand painted marble shelves 10' x 6"H, 9" gold lip metal, rounded molding around the wall, 2- 18"W x 12'9" returns,				

Description		Qtty	Price		Total
	Kidney Pillows - 20"W x 13"H custom covers in luxe linen sage, 83 in stock, need 9 more inserts	92	\$65.00	Т	\$5,980.00
			Total Reception		\$93,480.00
After Party					
	Custom Bar Wall 30'W x 12'H  Niche panels with 4 shelves inside, wall paper for front and for niche insert provided by client, 2-24'W returns, trim painted in Sherwin William 7578 Borscht clear coat, L-brackets, sand bags	1	\$7,500.00	Т	\$7,500.00
	Custom Wave Bar - Approx 26'W x 42"H	1	\$13,000.00	Т	\$13,000.00
	Top painted in brass modern masters clear cloat with studs, pinned / channeled fabric front in como vino				
	Custom DJ Front - 12'W x 42"H x 40"D	1	\$3,000.00	Т	\$3,000.00
	3 sided front with shelf at 38"H, Front Square Cut outs painted in Dunn Edwards Jazz Berry Jam Highgloss -Back & Interior & shelf painted in Sherwin Williams 7578 borscht â 🛭 semi gloss				
			Total After Party		\$23,500.00
Pool Party					
	Dj Booths - Santa Barbara - Moulding - Multicolor frame painted in shermin williams greek villa semi gloss, molding and base painted in Benjamin Moore Highland Breeze 786 Semi Gloss	1	\$600.00	Т	\$600.00
	47"W x 25"D x 48"H - Custom Color Upon Request		4050.00		41.050.00
	Barbacks - Arched - Small - Multicolor add back piece to top shelf to cover opening, painted in Benjamin Moore Highland Breeze 786 Semi Gloss 4'W x 8'H - Custom Color upon request	3	\$350.00	Т	\$1,050.00
	TWXOTT Outstorm obtain apoint equality		Total Pool Pa	ırty	\$1,650.00
Packing List				-	
	Large Furniture Dollies	1	\$0.00	Т	\$0.00
			Total Packing I	_ist	\$0.00
Services					
	Gallons of Paint	1	\$3,000.00		\$3,000.00
	Additional Labor	1	\$5,000.00		\$5,000.00
	Wednesday - Drive + Install	8	\$650.00		\$5,200.00
	Thursday - Install	8	\$650.00		\$5,200.00
	Friday - Install	8	\$650.00		\$5,200.00
	Saturday - Touchups	8	\$350.00		\$2,800.00
	Strike + Drive Back	8	\$650.00		\$5,200.00
	Hotel Rooms For Crew Estimated cost, price may increase pending price at time of booking	1	\$4,200.00		\$4,200.00
	Per Diems	8	\$516.00		\$4,128.00

Description	Qtty	Price	Total
Truck & Gas Surcharge	6	\$750.00 T	\$4,500.00
Manager Fees: Production, renderings, revisions, on site management, accommodations, etc	1	\$5,500.00	\$5,500.00
2D Renderings	1	\$2,500.00	\$2,500.00
Please make checks payable to Revelry, Inc.		<b>Total Products:</b>	\$217,230.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		abor/Services/Misc:	\$52,428.00
		Wear & Tear (4.00%):	\$8,689.20
		Packing (2.00%):	\$4,344.60
		Taxes:	\$21,618.68
		Discounts:	(\$0.00)
		Total:	\$304,310.48
		Payments:	(\$303,731.74)
		Balance:	\$578.73